MENTAL ABILITY

|

3

Let x, ¥, z be in A.P. and X%, y?, 22 be in G.P. fx<y<2 and Xty +Z2=75, then the

value of x is

1
A 2 ® 2

The standard deviations of two sets containing 10 a
respectively measured from their common mean 5. The S.D.

1 1 1 1
C) 273 D) 2715

nd 20 members are 2 and 3
for the whole set of 30

members is
22 2
(= (B) V6 (C) V3 &=

Negation of the compound proposition

"If the examination is difficult, then | shall pass if | study hard” is
(A) The examination is difficult and | study hard but | shall not pass
(B) The examination is not difficult and | study hard and | shall pass
(C) The examination is difficult and | study hard and | shall pass

(D) None of these

 nl2, ifniseven
If f: N> N is given by f(n) =1 (n+1)
A <
Suppose g is a function g : N — N, such that gof = [, then g is

if nis odd

(A) One-one (B) Onto (C) Bijective (D) Does not exist
If z, and z, are two complex numbers satisfying the equation £16%21_ 1 then L
Z,— 2, ‘ - Z,

a number which is
(A) Zero (B) Positive real (C) Negative real - (D) Purely imaginary

e SRR



10.

The condition for which a’x* + bx® + cx? + dx + f? may be a perfect square IS

(A) 4a’c - b* = 8a’f (B)
(Q): 2a’c = a*f (D) None of these

d4a’c = 8a’f

sin 120° cos 150° — cos 240° sin 330° is equal to

2 V3 +1
(A) 1 (B) -1 (C) 3 (D) { 4 J

colours and four boxes of colours same as those of

There are four balls of different
h box, could be placed

the balls. The number of ways in which the balls, one in eac
such that a ball does not go to box of its own colour IS
(A) 7 (B) 9 ()8

The equation of a circle with origin as centre and passing through the vertices of an

equilateral triangle whose median is of length 3a is
) X2+ y2=9a2 (B) x2+y*=6a (C) x*+y*=4a& (D) xZ+ y%=

(D) None of these

Z

The value of the 'M| is

(A) O (B 1 (C) E% (D) None of these

LOGICAL AND ANALYTICAL REASONING

1.

12.

13.

How many letters are there between the letter that is twentieth from the left end and
the letter that is sixteenth from the right end?
THAJKRBTAEMDGSOJKUMBDLUHYACM

(A) Five (B) Six (C) Three (D) Four
Which of the following meanings of the arithmetical signs will yield the value "zero’

for the expression given below?
200 x 100 + 300 x 200 — 10 + 2 + 40

(A) + means —, — means X, X means +, = means +
(B) + means —, — means +, X means +, + means x
(C) + means x, — means —, X means +, + means +
(D) + means +, — means +, X means —, + mMeans X

Forty boys are standing in a row facing the North. Raghu is eleventh from the left
and Vijay is thirty-first from the right end of the row. How far away will Uday, who is

third to the right of Raghu in the row, be from Vijay?
(A) 3° (B) 4" () 2 (D) 5



her the first and the third digits are interchanged, then which number

hmmm' |
358 426 853 674 592

L (B) 426 (C) 853 (D) 592
xﬂ‘ﬁ following expressions will not be true if the expression 'A=C2B > D
definitely true?
'J; (B) D<C (C)LAZB (D) D<A

3 oA ns 'A is father of B'; 'A + B' means 'A is daughter of B, A + B’ means
el *.ﬂsf E“ *A — B' means 'A is husband of B' then in F + R xH - L, how is H

’f-(E?)‘ Nephew (C) Brother (D) Son

q at would replace the "?" in figure (iv).

Problem Figures

o [

D | =

(D) 1
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22.

23.

24.

25.

26.

28.

X
O LI o) 0 :
A) P = (10 i gt
O 1 © ) :c: n'"_' (C) T ﬂc:';; (D) =10 o

COMPUTERS AND INFORMATION TECHNOLOGY

Which of the following has emerged as

India’s biggest tablet maker during the first
quarter of 20137

(A) Apple (B) Datawind (C) Microsoft (D) Google
Is/are Intel’s microprocessor for desktops.
(A) Conroe (B) Micron (C) Merom (D) Both (A) and (B)
______is acloud based operating system being developed by Microsoft.
(A) Midori (B) Micro Cloud
(C) Cloud OS (D) None of these

A type of transmission that does not require any local storage at sender's or receiver's
end is :
(A) Analog (B) Synchronous (C) Digital (D) Asynchronous

Which of the following statements refers to the associative memory?
(A) The data are accessed in serialized manner.

(B) Address of the data is supplied by the users.

(C) There is no need for an address i.e., the data is used as an address.
(D) Address of the data is generated by the CPU.

Which of the following is the oldest running webcam?

(A) FogCam (B) W camera (C) LR 180 (D) SFV 94
Which memory system is NOT used as a mass memory medium?

(A) Semiconductor memory (B) Magnetic drum

(C) Magnetic tape (D) Magnetic disk

Who is considered as father of Artificial Intelligence?
(A) Charles Babbage (B) John McCarthy
(C) Matin Cooper (D) Howard Mark



e B F"L':'r'l‘ j

5
i h e
nOUIECE 2

- x
i‘ £

c thi following layer in UNIX has a command interpreter?
; 4 e (B) Shell (C) Utilities
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{B) 101110101 (C) 10101110 (D) 10110110

(B) 58 (C) 55 il

1g algorithm in an operating system cause the disk arm to move back

. } the disk surface in order to service all requests in its path. This is

f First Serve (B) Shortest Seek Time First
pelGE: (D) First In First Out

o1 t wire connector, used to connect computers on the local area

,,.1 fB) RJ-45 (C) Ethernet Card (D) Switch
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am contains a function with the header - int sum(double a, char b). Which
wing function headers could be used within the same program?

ar sum(doubla a, char b) (B) int sum(int a, char b)

{A) and (B) (D) Neither (A) nor (B)

| be the output of the following C++ program?
Tostream h>

(B) 1 (C) 0 (D) Undefined

~ In Ms-F srPoint, which of the following diagrams can break things into categories
~ or show how parts contribute to a whole?
(A) Matrix diagram (B) Pyramid diagram

lationship diagram (D) Hierarchy diagram

. "Picture”, "Values & Source formatting”, "Linked Picture”, "Values" are
options ﬂ feature.
(B) Paste (©) Inser S

To change the Notes Page layout in Ms-PowerPoint, you need to go to

| group.
, Notes (B) View, Notes Master
Master Views (D) Review, Master
hich of the following are included in iomanip.h?
ac (B) rdstate (C) _irotr (D) tellp
» the options provided in Paste Special Dialog box in Ms-Excel.

(B) Values
(D) All of these

RS is a platform and language neutral interface that allows programs
ipts 'Adynamically access and update content, structure and style of a

{B‘) XSL (C) DOM (D) XSLT
' 'H n HTML.

RN bacl gums-cﬁlor = red></mark>

i -r"- r_irl i

& ﬁ e J.* ground-color = red"></mark>
C ‘E‘ w @-Im red" ></mark>

- stvle = "background:colour = red "></mark>



47.

48.

49.

20.

Language that was designed to just transport and store data is
(A) HTML (B) XML (C) C++ (D) C

______ defines a container for an external application or interactive content.
(A) <embed> (B) <section> (C) <canvas> (D) <article>
First mobile processor based on core microarchitecture is

(A) Conroe (B) Merom (C) PDP-11 (D) 4004

virus is famous for being the first virus to spread via Bluetooth.

(A) Brain (B) Commwarrior (C) | Love You (D) Trojan
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